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1. Code scroll

1.1 JAVA_64 - Y52 Q0| M string concatenation assignment H4tXt2| ALE ZX|

HHE 2 QHOJ| A String JAVA_64 =8 ATMjava 421  ATM.deletelnfo(User_Data) ATM
concatenation MRS AHE S

ghE &2 QoA String JAVA_64 =2 ATMjava 425  ATM.deletelnfo(User_Data) ATM
concatenation MRS AHE %
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g2 2 9t0j|A{ String JAVA_64 =8 ATMjava 471  ATMsavelnfo(User_Data)  ATM
concatenation H4AHAHE A2 %

452 for(i =8; i< len; i++)

1?3 {

455 if((1[1i].substring(®, 6)).equals(account))

456

457 | 1[i] = d.getAccountNum() +" " + d.getPw()+" " + d.getBank()+" " + d.getName()+" " + d.getBalance(j;I
459 }

160 }

417 for{i = 8; i ¢ len; i++)

418 i

419 if(i == len-1)

426 {

421 [1ine += 1[i1;]

422 T

423 else

A24 {

425 line += 1[1i];

426 line += "%rin";

427 }

428 }

452 for{i =8; i ¢ len; iH+)

463 {

A6 if(i == len-1)

455 {

466 line += 1[i];

467 ;

468 else

469 i

478 line += 1[1i];

471 line += "‘rin";

472 }

473 }
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String line;
String account;
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return false;
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d.setBalance(Integer.toString({balance));
return true;
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ATM .calculate(User_Data,
int)

public static boolean calculate(User Data d, int money)

int balance = Integer.parseInt(d.getBalance());

ATM.deletelnfo(User_Data)

ATM.deletelnfo(User_Data)

ATM.savelnfo(User_Data)

ATM.savelnfo(User_Data)

ATM.find(String)

ATM.checkAmountError(int)

ATM.checkBalance()

ATM.robberyreport()
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iflamount <= l1eeee08 L& amount > @)
return true;

if(d == null)

System.out.println{"cannct find the account™);

if(d==null)

System.out.println("cannct find the account!™);

1.5 Sun_26 - 23 Q| =40f AMX} =28 FX|

25 E ALESIR| &1 o Sun_26 28  ATMjava 44
AAMXLE ALEBIO] Al S = 8%t

22 E AMBSHA| ¥ of Sun_26 S“4e  ATMjava 66
AAMRE ALESHY +AlS =8

if(amount.charAt(i) »= 48 && amount.charAt(i) <= 57)

if(amount <= leeeasd && amount > @)

2. Find Bug

ATM.getAmount() ATM

ATM.checkAmountError(int) ATM

ATM.ATM.deletelnfo(User_Data) concatenates strings using + in a loop ***

% Bug~ @ Major + O Open ~ TLEHRX %L~ 30mineffort DHE
g ] P

oAZtZ » 1426 % T~

W performance ¥

ATM.ATM.savelnfo(User_Data) concatenates strings using + in a loop ***

& Bug> @ Major » O Open ~ TEEX L2 » 0mineffort THUE

src/main/java/ATM/Adminjava

Unread field: ATM.Admin.admin_id ==
& Bug> @ Major + O Open ~ ZZEX L2~ 0mineffort THE

Unread field: ATM.Admin.admin_pw
&% Bug~ @ Major ~ O Open ~ THEX %S~ 30minefforr THE

line += "\r\n";

oMZt=~ 1471 % T~

% performance

MZEZEw 115 % T~

W performance ¥

oAZtZw 116 % T

W performance ¥

ATM.ATM.deletelnfo(User_Data) concatenates strings using + in a loop

# Bug» @ Major v+ O Open v TEIX| 22 » 30mineffort THE

oAlZtE= » 1426 S

% performance ¥

String concatenating 2 & 4% + ECt= append £

FH




public Admin()

{
this.admin_cash = 5608000,
this.admin_id = "skleeB8";

Unread field: ATM.Admin.admin_id ***
# Bug~ @ Major v O Open ~ ZEEX LS~ 30mineffort ZHE

sAZEE~ 115 %

W performance

this.admin_pw = 1234,

Unread field: ATM.Admin.admin_pw ***
# Bugv @ Major v O Open v TTE|X| &S v 30mineffort FHE

ot

Admin_id, admin_pw & M 1%t

public boolean CheckAdminID(String id)

{
if(id.equals("skleeB8"))
{
return true;
}
else
return false;
¥
public boolean CheckAdminPW(String pw)
{
{
return true;
}
else
return false;
}

3. Check Style
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public static void main(String[] args) throws IOException {

gAZEZ~ L16 %

W performance ¥

AHE3IX| 1 constant string H| S ARt
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Caverage Duplications

Remove this throws clause.
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static String location = "./src/database.txt”;

Explicitly declare the visibility for “location”.

© vulnerability © Minor © Open ZZE|X| 22 Smin effort
P
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Refactor this code to not nest more
than 3 if/for/while/switch/try
statements.

@ Code Smell € Critical
[ 1]
3 ]

187 | EDif(d == nu11)

188 {

189 I System.out.println("cannot find the account™);
190

101 1

192 else

193 {

194 String pw = getPu();

195 if(d.checkAccountPw(account, pw))}

196 !

197 int amount = getAmount();

198 B if (! (checkAmountError(amount)))
199 {

208 I System.out.println("AR, opE +¥ix AG-A!");
201 i

324 | [E} if(admin.CheckadminID(id))

325 {

326 String pw = getAdminPuw();

327 if(admin.CheckAdminPuW(pw))

328 {

329 int index = getAdminMenu();

330 EJ if(index == 1)

233 if(from == null)

224 {

235 I system.out.println({"cannot find the account!™);
236 1

237 else

238 {

239 string pw = getPu();

248 i'F('Fron'l.checkAccoun‘th(account, puw))

241 {

242 String to_account = getTransferAccount();
243 B if(to_account.equals(account))




Refactor this method to reduce its
Cognitive Complexity from 35 to the
15 allowed.
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